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Question: 1 
   
A Machine Learning Specialist working for an online fashion company wants to build a data ingestion 
solution for the company's Amazon S3-based data lake. 
The Specialist wants to create a set of ingestion mechanisms that will enable future capabilities 
comprised of: 
• Real-time analytics 
• Interactive analytics of historical data 
• Clickstream analytics 
• Product recommendations 
Which services should the Specialist use? 
 
A. AWS Glue as the data dialog; Amazon Kinesis Data Streams and Amazon Kinesis Data Analytics for 
real-time data insights; Amazon Kinesis Data Firehose for delivery to Amazon ES for clickstream 
analytics; Amazon EMR to generate personalized product recommendations 
B. Amazon Athena as the data catalog; Amazon Kinesis Data Streams and Amazon Kinesis Data Analytics 
for near-realtime data insights; Amazon Kinesis Data Firehose for clickstream analytics; AWS Glue to 
generate personalized product recommendations 
C. AWS Glue as the data catalog; Amazon Kinesis Data Streams and Amazon Kinesis Data Analytics for 
historical data insights; Amazon Kinesis Data Firehose for delivery to Amazon ES for clickstream 
analytics; Amazon EMR to generate personalized product recommendations 
D. Amazon Athena as the data catalog; Amazon Kinesis Data Streams and Amazon Kinesis Data Analytics 
for historical data insights; Amazon DynamoDB streams for clickstream analytics; AWS Glue to generate 
personalized product recommendations 
 

Answer: A     
 

Question: 2 
   
A company is observing low accuracy while training on the default built-in image classification algorithm 
in Amazon SageMaker. The Data Science team wants to use an Inception neural network architecture 
instead of a ResNet architecture. 
Which of the following will accomplish this? (Select TWO.) 
 
A. Customize the built-in image classification algorithm to use Inception and use this for model training. 
B. Create a support case with the SageMaker team to change the default image classification algorithm 
to Inception. 
C. Bundle a Docker container with TensorFlow Estimator loaded with an Inception network and use this 
for model training. 
D. Use custom code in Amazon SageMaker with TensorFlow Estimator to load the model with an 
Inception network and use this for model training. 
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E. Download and apt-get install the inception network code into an Amazon EC2 instance and use this 
instance as a Jupyter notebook in Amazon SageMaker. 
 

Answer: AD     
 

Question: 3 
   
A Machine Learning Specialist built an image classification deep learning model. However the Specialist 
ran into an overfitting problem in which the training and testing accuracies were 99% and 75%r 
respectively. 
How should the Specialist address this issue and what is the reason behind it? 
 
A. The learning rate should be increased because the optimization process was trapped at a local 
minimum. 
B. The dropout rate at the flatten layer should be increased because the model is not generalized 
enough. 
C. The dimensionality of dense layer next to the flatten layer should be increased because the model is 
not complex enough. 
D. The epoch number should be increased because the optimization process was terminated before it 
reached the global minimum. 
 

Answer: A     
 
Reference: https://www.tensorflow.org/tutorials/keras/overfit_and_underfit 

Question: 4 
   
A Machine Learning team uses Amazon SageMaker to train an Apache MXNet handwritten digit 
classifier model using a research dataset. The team wants to receive a notification when the model is 
overfitting. Auditors want to view the Amazon SageMaker log activity report to ensure there are no 
unauthorized API calls. 
What should the Machine Learning team do to address the requirements with the least amount of code 
and fewest steps? 
 
A. Implement an AWS Lambda function to long Amazon SageMaker API calls to Amazon S3. Add code to 
push a custom metric to Amazon CloudWatch. Create an alarm in CloudWatch with Amazon SNS to 
receive a notification when the model is overfitting. 
B. Use AWS CloudTrail to log Amazon SageMaker API calls to Amazon S3. Add code to push a custom 
metric to Amazon CloudWatch. Create an alarm in CloudWatch with Amazon SNS to receive a 
notification when the model is overfitting. 
C. Implement an AWS Lambda function to log Amazon SageMaker API calls to AWS CloudTrail. Add code 
to push a custom metric to Amazon CloudWatch. Create an alarm in CloudWatch with Amazon SNS to 
receive a notification when the model is overfitting. 
D. Use AWS CloudTrail to log Amazon SageMaker API calls to Amazon S3. Set up Amazon SNS to receive 
a notification when the model is overfitting. 
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Answer: C     
 

Question: 5 
   
A Machine Learning Specialist is implementing a full Bayesian network on a dataset that describes public 
transit in New York City. One of the random variables is discrete, and represents the number of minutes 
New Yorkers wait for a bus given that the buses cycle every 10 minutes, with a mean of 3 minutes. 
Which prior probability distribution should the ML Specialist use for this variable? 
 
A. Poisson distribution  , 
B. Uniform distribution 
C. Normal distribution 
D. Binomial distribution 
 

Answer: A     
 

Question: 6 
   
A Data Science team within a large company uses Amazon SageMaker notebooks to access data stored 
in Amazon S3 buckets. The IT Security team is concerned that internet-enabled notebook instances 
create a security vulnerability where malicious code running on the instances could compromise data 
privacy. The company mandates that all instances stay within a secured VPC with no internet access, and 
data communication traffic must stay within the AWS network. 
How should the Data Science team configure the notebook instance placement to meet these 
requirements? 
 
A. Associate the Amazon SageMaker notebook with a private subnet in a VPC. Place the Amazon 
SageMaker endpoint and S3 buckets within the same VPC. 
B. Associate the Amazon SageMaker notebook with a private subnet in a VPC. Use 1AM policies to grant 
access to Amazon S3 and Amazon SageMaker. 
C. Associate the Amazon SageMaker notebook with a private subnet in a VPC. Ensure the VPC has S3 
VPC endpoints and Amazon SageMaker VPC endpoints attached to it. 
D. Associate the Amazon SageMaker notebook with a private subnet in a VPC. Ensure the VPC has a NAT 
gateway and an associated security group allowing only outbound connections to Amazon S3 and 
Amazon SageMaker 
 

Answer: D     
 

Question: 7 
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A Machine Learning Specialist has created a deep learning neural network model that performs well on 
the training data but performs poorly on the test data. 
Which of the following methods should the Specialist consider using to correct this? (Select THREE.) 
 
A. Decrease regularization. 
B. Increase regularization. 
C. Increase dropout. 
D. Decrease dropout. 
E. Increase feature combinations. 
F. Decrease feature combinations. 
 

Answer: B, C, D     
 

Question: 8 
   
A Data Scientist needs to create a serverless ingestion and analytics solution for high-velocity, real-time 
streaming data. 
The ingestion process must buffer and convert incoming records from JSON to a query-optimized, 
columnar format without data loss. The output datastore must be highly available, and Analysts must be 
able to run SQL queries against the data and connect to existing business intelligence dashboards. 
Which solution should the Data Scientist build to satisfy the requirements? 
 
A. Create a schema in the AWS Glue Data Catalog of the incoming data format. Use an Amazon Kinesis 
Data Firehose delivery stream to stream the data and transform the data to Apache Parquet or ORC 
format using the AWS Glue Data Catalog before delivering to Amazon S3. Have the Analysts query the 
data directly from Amazon S3 using Amazon Athena, and connect to Bl tools using the Athena Java 
Database Connectivity (JDBC) connector. 
B. Write each JSON record to a staging location in Amazon S3. Use the S3 Put event to trigger an AWS 
Lambda function that transforms the data into Apache Parquet or ORC format and writes the data to a 
processed data location in Amazon S3. Have the Analysts query the data directly from Amazon S3 using 
Amazon Athena, and connect to Bl tools using the Athena Java Database Connectivity (JDBC) connector. 
C. Write each JSON record to a staging location in Amazon S3. Use the S3 Put event to trigger an AWS 
Lambda function that transforms the data into Apache Parquet or ORC format and inserts it into an 
Amazon RDS PostgreSQL database. Have the Analysts query and run dashboards from the RDS database. 
D. Use Amazon Kinesis Data Analytics to ingest the streaming data and perform real-time SQL queries to 
convert the records to Apache Parquet before delivering to Amazon S3. Have the Analysts query the 
data directly from Amazon S3 using Amazon Athena and connect to Bl tools using the Athena Java 
Database Connectivity (JDBC) connector. 
 

Answer: A     
 

Question: 9 
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A company is setting up an Amazon SageMaker environment. The corporate data security policy does 
not allow communication over the internet. 
How can the company enable the Amazon SageMaker service without enabling direct internet access to 
Amazon SageMaker notebook instances? 
 
A. Create a NAT gateway within the corporate VPC. 
B. Route Amazon SageMaker traffic through an on-premises network. 
C. Create Amazon SageMaker VPC interface endpoints within the corporate VPC. 
D. Create VPC peering with Amazon VPC hosting Amazon SageMaker. 
 

Answer: A     
 
Reference: https://docs.aws.amazon.com/sagemaker/latest/dg/sagemaker-dg.pdf (46) 

Question: 10 
   
An office security agency conducted a successful pilot using 100 cameras installed at key locations within 
the main office. Images from the cameras were uploaded to Amazon S3 and tagged using Amazon 
Rekognition, and the results were stored in Amazon ES. The agency is now looking to expand the pilot 
into a full production system using thousands of video cameras in its office locations globally. The goal is 
to identify activities performed by non-employees in real time. 
Which solution should the agency consider? 
 
A. Use a proxy server at each local office and for each camera, and stream the RTSP feed to a unique 
Amazon Kinesis Video Streams video stream. On each stream, use Amazon Rekognition Video and create 
a stream processor to detect faces from a collection of known employees, and alert when non-
employees are detected. 
B. Use a proxy server at each local office and for each camera, and stream the RTSP feed to a unique 
Amazon Kinesis Video Streams video stream. On each stream, use Amazon Rekognition Image to detect 
faces from a collection of known employees and alert when non-employees are detected. 
C. Install AWS DeepLens cameras and use the DeepLens_Kinesis_Video module to stream video to 
Amazon Kinesis Video Streams for each camera. On each stream, use Amazon Rekognition Video and 
create a stream processor to detect faces from a collection on each stream, and alert when 
nonemployees are detected. 
D. Install AWS DeepLens cameras and use the DeepLens_Kinesis_Video module to stream video to 
Amazon Kinesis Video Streams for each camera. On each stream, run an AWS Lambda function to 
capture image fragments and then call Amazon Rekognition Image to detect faces from a collection of 
known employees, and alert when non-employees are detected. 
 

Answer: C     
 
Reference: https://aws.amazon.com/blogs/machine-learning/video-analytics-in-the-cloud-and-at-the-
edge-with-aws-deeplens-and-kinesis-video-streams/ 

Visit us athttps://www.examsempire.com/aws-certified-machine-learning/

https://www.examsempire.com/aws-certified-machine-learning/


 

 
 

https://examsempire.com/ 

- 1 - 

 

 

Thank You for Trying Our Product 
Discount Coupon Code is: 20OFF2022 

Email: support@examsempire.com 
 

 

Check our Customer Testimonials and ratings 
available on every product page. 

Visit our website. 

https://examsempire.com/ 

Powered by TCPDF (www.tcpdf.org)

Visit us athttps://www.examsempire.com/aws-certified-machine-learning/

http://www.tcpdf.org
https://www.examsempire.com/aws-certified-machine-learning/

